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Section A: Multiple Choice Questions [44 marks]

1. Study the classification table below.

Grogpa

&

cacfus cake alarm clock

Which of the foiléwing cannot be used as headings for Group P and Group Q7

Group P Group Q

(1) | Cangrow Cannot grow

(2) | Can reproduce their own kind | Cannot reproduce their own kind

(3) | Cannot respond to changes | Can respond fo changes around
around them them

(4) [ Need air, food and water to | Does not need air, food and water
stay alive ‘ to stay alive




Edmund found plant R in his garden. Plant R has brown spores on the underside of the
leaves as shown in the diagram below.

brown
sSpores

plantR

From his observation, which of the following statements about plant R are correct?

it is an adult plant.

itis a young plant.

It is a flowering plant

It is a non-flowering plant.

fwE gl

(1) AandConly (2) AandDonly
(3  Band Conly 4 BandDonly
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3.

Yi Xin was given pictures of 4 animals as shown below.

cat

lizard

She had to classify the 4 animals into only 2 groups.

Which one of the following headings will not group the 4 animals into 2 groups?

1)

(2)

3)

(4)

Group P Group Q
Gwe birth to young alive Lay eggs
Have feelers Do not have feelers
Have scales Have hair
Live on land Live in water

The diagrams below show 4 animals, A, B, C and D.

Based only on what can be seen from the diagrams above, which one of the following

statements is corract?

(1)  Allof them have 3 pair of legs.

(2)  Allofthem have a pair of wings.

(3)  Allof them have only two body parts.

4)

All of them have scales as their outer body coverings.

4
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5.

Study the classification diagram below.

How are the animals above classified?
{1) By the way they move
(2)  Bythe way they reproduce
(3) By their outer body coverings
(4 Bythe number of legs they have
Study the pictures below.
Which one of the following is not a fungi? .

M @

(4)

Animais
goldfish chicken monkey
crocodile parrot giraffe
snake penguin whale

bracket
mushroom
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Jing Hao set up an experiment on bacleria Z that was growing on half-cut apples. The
apples are sweet and juicy. They were placed in different locations with different

temperatures.

The diagram below shows how bacleria Z has grown on the half-cut apples after three
days.

< N a ]
Half-cut apples u ' 2.
A B
Location Freezer Classroom
Temperature o°C ’ 30°C
Presence of air Yes Yes

Based on the above setups, what did Jing Hao want to find out in his experiment?

(1) Hewanted to find out if bacteria Z can be seen under a microscope.

(2) Hewanted to find out ¥ bacteria Z needs air, food and water to grow.

(3) Hewanted to find out if bacteria Z grows better when there is warmth.,
(4) Hewanted fo find out if bacteria Z appears in different shapes and sizes.
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8.

Study the dassification diagram below.

Which one of the following describes the life cycles of animals in groups R and 8?

5
(2)
3
4)

Animals

i

[

Group R

beetie
mosquito

Group §

frog
grasshopper

Group R Group S
Have an egg stage "Do not have an egg stage
4-stage Iife cyde 3-stage ife cydle

Entire fife cycle is on land

Part of the life cydie is in water

Have young that do not resemble

their parents

Have young that resemble their
parents
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9.

Study the 2 life cydles, A and B, below.

aduit

egg

\ /

young

Life cycle A

aduit \

egg

../

Life cycle B

Which of the foliowing living things have the same life cyde as the above?

(1)
@
©@
4)

Life cycle A Life cycle B
chicken mosquito
.man_ggiree fem
beeﬂg, butterfly
cockroach frog
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10. Which one of the following shows the life cycle of a mango tree?

seed
(1) N @) A piant N\
. e AN
. / N
N yd \\‘
young adult
g!dai::: - plant plant + seed
@ aduft @ _
plant \ / "
young adul - > gtan‘:g
seed <+ plant plant
11.  Study the table below.
Break easily Absorb water Flexible
ceramic pot cotton cloth cotton shirt
glass vase woollen jacket paper bag
ceramic bowl rubbergloves | wooden ruler

Which of the object(s) above islare classified wrongly?

(1)  cotion shirt only

)] glass vase only

(3) woollen jacket and paper bag only
(4) rubber gloves and wooden ruler only



Study the diagram below and answer Questions 12 and 13.

The diagram below shows a mobile phone.

12.

13.

Which one of the following materials is most suitable for making the screen?

(1)
(2)
(3)
4

Which property of material is needed so that the user can see the display on the screen?

wood
metal
fabric
glass

It is flexible.

It can float on water.

it does not absorb water.

It allows most light to pass through.

10

Screen
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14.  Study the diagram below.

Weight

Material

Supports

Daryl wanted to find out how many times materiais Q, R, S and T can be hit before it
breaks. He dropped a 2 kg-weight from a height of 1 metre onto material Q. He then
repeated the experiment on materiais R, S and T. -

The table below shows the number of times the weight was dropped before the material

breaks.
Material Number of hits
Q 37
R | 51
S 68
T . 81

Based on the results, which one of the following statements is correct?

(1) RisstrongerthanT.
{2) T is stronger than Q.
{3) Qis less flexible than 8.
(4) Sislessflexble than R.

11



15.

16.

Study the diagram below.

Jane observed the behaviour of 2 objects, W and X, and made the following statements:

A object W and object X are both magnets.
B object W is a magnet while object X is a non-magnetic metal.
C  object W and object X have their unlike poles facing each other.

Which of the above statements about objects W and X are correct?

(1) Aonly
{2) Bonly
{3) A and Conly
{4) B and Conly

The diagram below shows what happens when a nja‘gnet was brought near some steel
paper dlips.

Magnet

Which property of magnets does the above diagram show?

(1)  The centre of a magnet has no magnetic pull.

(2) The poles of a magnet have the strongest inagnetic putl.

(3)  When like poles of magnets are facing each other; they repel.
(4) A magnet always comes to a rest in the North-South direction.

12
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17.  Hui Jun has a barmagnet. She dropped it accidentally and it broke into two smaller pieces
as shown in the diagram below.

=3 — 3 (75

Which one of the following shows the poles of the broken magnets?
(1) 2

'sg' sl s

) &

3 7

18. The needle of a compass is a magnet

%)
=z

Which one of the following shows the position of a freely-suspended magnet?
() » @ .
(4) .

@)

13
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19.  The examples below use the property of magnets to work,
Like poles of magnets facing each other will repel.

Which one of the following uses the above property of magnets to work?

(1 (2}

Maglev train floating above frack chess pieces-onh a chess board

® @

closing door of the fridge tightly door stopper keeping door open

14
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20. Jennifer wanted to make a temporary magnet by using the stroke method. She has a
horseshoe magnet. The arrows in the diagrams below show the direction of the stroking.

Which one of the following shows how she could make a temporary magnet?

(1) (@)

3

15
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21.  Study the diagram below.

rod made of
magnetic metal
Battery
in which one of the following setups will the rod atiract the most number of stee! paper
clips?
M @

©) 4

I
e R e

16
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22.  The diagram below shows an electromagnet.

The electromagnet is used in a junkyard to sort materials.

crane

Study the statements below.

A The electromagnet cannot work from a distance.

B The electromagnet can be used to remove waste made of Iron and steel.

C The electromagnet will still be able to work even after electricity has been
witched off.

Which of the statement(s) above is/are correct?

(1) Bonly 124 C only
(3) AandBonly {4)  Aand Conly
~ END OF BOOKLET A ~
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Section B: Open-Endead Questions {26 marks]

23. The table below shows the characteristics of W, X, Yand Z.

Nesods
Things air, water and food to | Needs sunlight to Can respond to
stay alive make food changes around it
YY) v R
X
Y v
pa v v v

Based on the information given in the table above,

put a fick ( / ) in the correct box to

indicate if the statements are “True”, “Faise” or *Not possible o tell”. [2]
(a) | W is an animal. twe[ ] Faise[d Notpossiletoten [ ]
(b) | Xis the only non-iving thing. |Tuie[[]  False[]  not possible to te [_]
© | W, Y andzare iving things. | Trie[]  Faise[ §  Not possible to tel C]
(d) | Zis aplant Tue[]  Faise[]  Not possibie totell [
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24.  The classification diagram below shows how some plants can be classified.

I Ph'lﬂs ]
[ 1
X Y
banana free dragon's scale fern
chifli plant bird’s nest fern
rose plant moss
(a) Give a suitable heading for X and Y. 1]
M X:
@i Y:
{b) Other than the characteristics given in (a), state another- difference in
characteristics between the plants in group X and group Y. [1]
3
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25. Study the diagrams below,

parrot
(a) State one similar function of the outer body coverings for both animals. 1]

{b)  Otherthan the outer body coverings, state another difference in characteristics
between the parrot and the tiger shown in the diagrams above. 1]

26. The diagram below shows a slice of bread with mould growing on it.

mould

(a) Where does the mould obtain its food from? [1]

(b) Suggest one way to increase the amount of mould growing on the bread.  {1]
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27.  Study the flowchart below.

Does it lay
e8ggs in

Start |

>t y
adult?
Yes
b4
(a) Give an example of animals X and Z. [21
X:
Z:

{b) Based only on the flowchart above, state all the characteristics of animal Y.[1]

(c) Based on the flowchart above, state a similarity between animal Y and
animal Z. [1]

{d)  Give areason why the young of animal W and animal X moult several times
during the larva stage, 1]
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28.  The diagram below shows the stages of the life cycle of a tomato plant.

fruit

seed :

Stage A Stage B Stage C Stage D

(a) Using the stages above, write A, B, C and D in the diagram below to show the
order of the tomato plant’s life cycle. 1]

/ ~__

(b) When a seed germihates, it will get its food from the seed leaves.

Besides food, state the other 3 conditions that the seed needs to have in order
to germinate. 2
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29.  Uncie Lennon needed to make a pair of rain boots as shown in the diagram below,

The table below shows the properties of materials W, X, Y and Z.

Property Material W | Material X | Material Y | Material Z |
Is it strong? No No Yes Yes
‘Does it absorb Yes No Yes No |
water?

(a) Using information from the table above, which material, W, X, Y or Z, is the most
suitable for making the rain boots? 1]

Material e

(b) Using one of the properties in the table above, give a reason why the material
you have chosen in {a) is the most suitabla. [2]
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30. Objects D, E, F and G are hung side by side on a pole as shown in the diagram below.

———-—F—'F':
ONORGRO

Nick squeezed objects D, E, F and G together before letting them go. He observed
that the object remained in the position as shown below after Nick released them,

pole
o © @
(a) Give an example of object G. (]
(b)  Explain why object D and E moved away from each other. ' 21
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31

Study the diagram below.

| battery

_— metal rod

. paper clips

Tiffany coiled a wire around a metal rod and connected a battery to wire. She saw
some paper clips were “stuck” to the ends of the metal rod.

(a)  Suggest a type of metal that the paper clips could be made of. {11

(b)  Explain your answer in (a). [1]

{c)  Suggest two changes to make to the above so that the metal rod can attract
more paper clips to the metal rod. {2}

i

~ END OF BOOKLET B ~
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Nanyang Primary School
P3 SCIENCE EYE 2022
Answer Key
Section A
‘6 12 A1 1 4 T3
713 12 14 13 -
o1 Tia > 1
Saction B
Qn No ” Acceptable Answers,
23. | NPT/ F/1 R ¥ ~

24.(a) | X : Flowering Mant
Y : Non-fi ing plant

(b) | Plants in gfoup X reproduce by seeds but the plants in group Y l\ep@unb by
spores.

25.(a) | Both body coverings keep the animals warm.

(b) | Parrotlias wings but the tiger does not have wings.

26.(a) | It obtaihs food fom the bread.
(b) | Add a few drops of waler to the bread.

27.{a) | X : mosquito
Z : cockroach

{b) | Y has 3-stage life cycle and its young does not resemble its aduit.
{c) Both have 3-stage life cycles.

{d) The young of W and X moult to grow bigger.

28.(a)  B,C.AD

(b) | Water, airfoxygen), warmth (right temperature)

Page 1 of 2




29.(a) | Material Z

{b) It is waterproof{P) so that the person’s fegl Witk st get wet (F) on a rainy day.
30.(a) | Magnet/s+ <) ball

(b) | ObjectsDa e eath other.

They are mayg i like poles facing each other.

31.{a) | Steel/ Iror{ Lybgit/ Nicke!

() |lronisp reagngtic material so the electromagnet can attract the papér clips.

(c) i Iny the number of coils of wire around the metal rod.

il | the number of batteries used.
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